Algebra 1 Unit 3 - Slope Real World Situations q ‘Zq

Student Notes - Slope Real World Situations ) '

Identify the independent and dependent variables, then find the slope of each line and tell
what it represents.

1. Profit from Popcorn Sales 2.
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Use the situation below to answer questions 3-5.

Some employees of Ace Corporation left their office building and drove separately on the same road to
a convention. The graph shows the distance traveled by each employee after 5 hours of nonstop
driving at 4 different speeds.
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4. What is the slope of the equation that models this situation for Mr. Able? £ ADES 2
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Algebra 1 Unit 3 - Slope Real World Situations
Use the situation below to answer questions 6-8.

Fishermen in the Finger Lakes Region have been recording the dead fish they encounter while fishing in
the region. The Department of Environmental Conservation monitors the pollution index for the Finger
Lakes Region. The model for the number of fish deaths, y, for a given pollution index, x, is

y =9.067x +111.958 .

6. What are the independent and dependent variables in this situation?
Independent: Pﬂ\m k 10N \ Dependent: fsh deaths
\N
7. What is the slope of the equation that models this situation? 1-0 U-‘}

8. What is the meaning of this slope? C‘ -0 Gsh die pQ)( 1 PD“\AH g fﬂd-e)i

9. A small business purchased a van to handle its delivery orders. The graph below shows the value of
this van over a period of time. Which of the following best describes the slope of this situation?
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10. The line segment on the graph shows the altitude of a landing airplane from the time its wheels are
lowered to the time it touches the ground. Which of the following best describes the slope of the

line segment? ¥
AL P I W I
A The plane descends about 1 foot per 8 seconds. 2000 ’ M vt '24*“' 9 _
B The plane descends about 1 foot per 2 seconds. | i — (0 RER
C The plane descends about 2 feet per second. L SN
The plane descends about 8 feet per second. 58 s |
< 1000 = \,‘“.‘x . B
500 ! i \\v\_ =
5
0 an @0 B0 120 480 1RO C
Time

(seconds)



